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M.COM. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

PAPER FOURTH
STATISTICAL ANALYSIS

Time : Three Hours] [Maximum Marks:80
[Minimum Pass Marks:16


Note : Attempt all sections as directed.



(Section-A)

()

             (Objective/Multiple Choice Questions)

(1 mark each)



Note : Attempt all questions :



Choose the correct answer :

P.T.O.
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 


(A) 

(B) 

(C) 

(D) 

Which is not a type of statistical table from of the follow-
ing-

(A) Individual

(B) Discrete

(C) Continuous

(D) Signed

   

(A) 

(B)  

(C) 

(D) 

‘‘Statistics is the science of calculation, '' Whose state-
ment is this?

(A) Prof. Horace Secrist

(B) Prof. W.I.King

(C) Prof. A.L. Wadington

(D) Dr. A.L.Bowley
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 

(A) 

(B) 

(C) 

(D) 

Collection of Informations by the investigator is known
as-

(A) Data

(B) Index Number

(C) Units

(D) None of those

 


(A)  

(B)  

(C)   

(D) 

Which of the following is not a method of collecting pri-
mary data?

(A) Direct Personal Investigation

(B) Indirect Personal Investigation

(C) Downloding from Website

(D) Information through Questionnaire

P.T.O.
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 

(A) 

(B) 

(C) 

(D) 

In a Table Heading of a Column is known as -

(A) Caption

(B) Stub

(C) Subject

(D) Body

 

(A) 

(B) 

(C) 

(D) 

Number is based on number of variables-

(A) One

(B) Two

(C) Three

(D) None of these
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 

(A)  

(B)  

(C)  

(D) 

The Most Favourite measures of dispersion is -

(A) Standard deviation

(B) Mean devition

(C) Quartile deviation

(D) None of these

 

(A) 

(B) 

(C) 

(D) 

On which calculations, the coefficient of skewness of Karl
Pearson is based?

(A) Mean, median and mode

(B) Mean, Median and quartile deviation

(C) Mean, Median and mean deviation

(D) Mean, median and standard deviation

P.T.O.
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 


(A) 

(B) 

(C)  

(D) 

Statistical analysis is heavily focused in making the final
report of a

(A) Qualitative research

(B) Quantitative research

(C) Enthnographic study

(D) Phenomenological study



(A) 

(B) 

(C) 

(D) 

Sum of squares of deviation from mean will be-

(A) Equal

(B) Maximum

(C) Minimum

(D) None of these
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 

(A)  

(B)  

(C)  

(D) 

The Method of Karl Pearson was propounded in -

(A) 

(B) 

(C) 

(D) None of these




(A) 

(B) 

(C) 

(D) 

If minimum value is 12 and maximum value is 48 in a
series, Co-efficient of range will be-

(A) 

(B) 

(C) 

(D) 

P.T.O.
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   

(A) <

(B) >

(C) =

(D) 

Skewness will be negative when

(A) Mean < Mode

(B) Mean > Mode

(C) Mean = Mode

(D) None of these

head


(A) 3/16

(B) 5/16

(C) 11/16

(D) 15/16

A coin is toseed 4 times. What is the probabilities of get-
ting two or more heads?

(A) 3/16

(B) 5/16

(C) 11/16

(D) 15/16
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 

(A)  

(B)  

(C) 

(D) 

The meaning of Regression is -

(A) Forward Movement

(B) Return back

(C) Go upward

(D) Jump downward

16. 


(A) 

(B) 

(C) 

(D) 

In a compartment of 8 seat of a train, five passengers
enter. In how many ways they can sit?

(A) 

(B) 

(C) 

(D) 

P.T.O.
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17. 


(A) 

(B) 

(C) 

(D) 

Two dices are thrown once, what is the probability of get-
ting at least one 6?

(A) 

(B) 

(C) 

(D) 

18. 

(A) 

(B)  

(C) 

(D) 

The father of statistics is -

(A) Marshall

(B) Goltfried Achenwall

(C) Galton

(D) Bowley
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19. 

(A) 

(B)  

(C) (A)(B)

(D) 

Which of the following is a source of secondary data?

(A) Published sources

(B) Unpublish sources

(C) Both (A) and (B)

(D) None of the above

20. 
P

(A) 

(B) 

(C) 

(D) 

If the mean of a binomial distribution is 3 and variance is
2 then the probability of sucess (P) is-

(A) 

(B) 

(C) 

(D) None of the above

P.T.O.
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

(Section-B)



Very Short Answer Type Questions

marks each

 


Note :Write answer of any eight questions from this section

in two or three sentences each.

 

What do you mean by statistical data?

. 

What is meant by primary data?

. 

What do you understandy by Range? Explain.

. 
  

In a deck of cards, two cards are drawn at random. Find
the probability that the card will be an Ace.

. 

What is current deviation method?

.   

Give the classical definition of probability.
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. 

What is ratio of variation?

. 

Why are there two regression lines?

.     

Explain the term 'Mean Deviation'.

10.    

Write any two limitations of statistics.



(Section-C)



Short Answer Type Questions

3 marks each)




Note : Attempt any eight questions. Each question except
numerical nature is to be answered in about 75 words.

 

Mention the name of main stages of statistical investiga-
tion.

. 

Describe the points that you would consider in drafting a
questionnaire.

P.T.O.
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.    

Define 'Table' and 'Tabulation'.

 

Write three differences between Primary & Secondary
data.

5.    

Explain the concept of probability.

 

Discuss the relationship between the different measures
of dispersion.

7. 


Explain Co-efficient of variation and discuss its uses.

      

Explain the coefficient of skewness of Karl Pearson.

9. 

Under what circumstances there can be only one regres-
sion line.

10. 

What do you understatnd by dependent and independent
events?
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

(Section-D)



Long Answer Type Questions

5 marks each)




Note : All Questions of this Section are compulsory. Each
question expect numercial nature is to be answered in
about 150 words

   

 

"Statistics is essential for every individual in the current
age". Explain and clarify the scope, functions and impor-
tance and limitation of statistics.

Or





Discuss the merits and demerits of different methods of
primary data collection and point out the conditions suit-
able for the application of questionnaire method.

P.T.O.
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 

Find the variance and coefficient of variation from the fol-
lowing data-

(Age) 10-19 20-29 30-39 40-49 50-59 60-69

 (Frequency) 3 61 50 32 20 4

/Or

        


Calculate Karl Pearson's coefficient of skewness from
the following data-

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70

No. of Students 8 11 26 10 9 6 4

 


Why are there two regression lines? Under what condi-
tions can these be only one line.

/Or



Obtain the two regression equations from the data given
below-

X- 20 60 55 45 75 35 25 90 10 50

Y- 20 45 65 40 55 35 15 80 25 50
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 

     


5 red, 3 blue and 2 white balls are put into an urn. One
ball is drawn and set aside. not put in the urn. This pro-
cess is repeated twice in addition to it. What is the prob-
ability that all the three balls are of red colour?

Or

'A''B'




'A' speaks truth in 60 percent cases and 'B' in 70 percent
cases. In what percentage of cases are they likely to con-
tradict each other in stating the same fact.


